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1. 'Ω = {1, 2, 3, 4, 5, 6}����×^£è (Ω,F , P ), Í�F
�â{2, 3}, C{3,
4}�t�Ýσ−�, vP ({2, 3}) = 0.3, P ({3, 4}) = 0.5�

2. 'Ω = {1, 2, 3, 4}, F
�âΩ�Xb�/Ýσ−�, P ({ω}) = 1/4, ∀ω ∈ Ω��X

(1) = X(2) = 0, X(3) = X(4) = 1, Y (1) = Y (3) = 2, Y (2) = Y (4) = 3��
®X�Y}ñÍ?

3. 'Ω = {1, 2, 3, 4, 5, 6}��X(ω) = 2, ω = 1, 2, 3, 4, X(ω) = 7, ω = 5, 6�

(i) ��×t�Ýσ−�F , ¸ÿX
×r.v.�

(ii) �3Fî�L×^£ÐóP�

(iii) E(ii)��P , ���X�5µÐóF�

(iv) ���Y = X2�p.d.f.�

4. ��3Í¯�A, B, C, Í�A�B, A�C/}ñ, ¬A�B ∪ C�}ñ�

5. 'X,Y
Þ}ñ�E(λ)5µ r.v.’s,�Z = X−Y��OZ�d.f.,.�ÿÕp.d.f.�

6. 'X�Y}ñ, XbN (0, 1)5µ, �fY (y) = (2/
√

2π)e−y2/2G(y), y∈ R, Í�G(y)

> 0, vG(−y) = 1−G(y), ∀y ∈ R��JX/YbC(0, 1)5µ�

7. 'X,Y
Þ}ñÝU(0, 1)5µr.v.’s, �Z = X/Y�

(i) �OZ�p.d.f., ¬�Jh@
×p.d.f.�

(ii) ��J1/Z
d
= Z�

8. Þ nÍ¦�^2w
 rÍ»��, n ≥ 1, r ≥ 2�� Xi = 1, uÏ iÍ»�Îè
Ý, ÍJ Xi = 0, i = 1, · · · , r��O

(i) E(Xi) ;

(ii) E(XiXj), i 6= j;

(iii) E(Sr)C Var(Sr), Í�Sr�è»�Ýóê�


